
7,0mm

1

WOODEN
DECK

WOODEN
POST

3

2

4

6

5

7,0mm

HPL-DECK

1WOODEN
POST

7
5
6

2

3

NR. Description MA Item Number Qty

1 Gripbow high A 8048809 1

2 TKFT 6x40 mm 8008651 6

3 Ø6 16/7 x 3 mm 8035290 6

4 MVBF M6x40 mm 8039273 2

5 Ø6,4x12x1,6 8008845 2

6 Dome Lock Nut M6 8008752 2

7 MVBF M6x20 mm 8039270 2 SS ToB 2017-03-31 4

MASW37422
 1 ( 2)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Gripbow high A
HAGS



7,0mm

HPL-DECK

1
STEEL
POST

3

4

5

ø5,5
250

2

Max 500 rpm

NR. Description MA Item Number Qty

1 Gripbow high A 8048809 1

2 MVBF M6x20 8039270 2

3 Ø6,4x12x1,6 8008845 2

4 Dome Lock Nut M6 8008752 2

5 Screw, thr-forming M6x25-8.8-(ISO7380) 8027762 6 SS ToB 2017-03-31 4

MASW37422
 2 ( 2)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Gripbow high A
HAGS


	Sheet1
	Drawing View3
	Detail View A (1 : 2)
	Detail View B (1 : 2)
	Drawing View7
	Detail View C (1 : 2)
	Detail View H (1 : 2)

	Sheet2
	Drawing View12
	Detail View F (1 : 2)
	Detail View G (1 : 2)


